How to Attach
Butler Robotics to a
Falcon Wood Frame

REVISION: 7/29/2016



In order to accommodate all machine types we use universal
parts bags, not all parts will be used in every installation.

Bag # Contents Picture

Cables Vary by machine

X1 1-White belt (12°)
4 - Plastic belt clamps
4 - Screw (4-40 x 0.5)

Y1 1 - Black Belt (86”)
4 - Plastic Belt Clamps
4 - Screw (4-40 x 0.5)

Zz2 5- Plastic Anchors
2- Screw (M5 x 12mm)
2- Washer (M5)
1- Stylus
5-Zip ties
1- Drill bit (5/16”)

Z3 1 - Motor Pulley Cover
2 - Nuts (M5 K-Lock)




Bag # Contents Picture

D1, D4, or N/A 1- Display bracket
2- Screw (M3 x 8mm)
2-Remote base
4- Screw (M6 x 8)
4- Nut (M6)
2- Poly disc
2- Screw (M3 x 8mm)

13 1- Rear idler bracket
1- Rear idler clamp
4- Screw (#4 x 5/167)
1- Pulley assembly

Y4 1-Carriage bracket
1- Universal Y-bracket
1- Thumb screw ( #M5 x 6mm)
1- Eye bolt (M5 x 40)
2- Lock nut (M5)
2- Pan-head screw (#10-24x 17)

X12 2- Eye bolt (M5 x 40 10mm)
4- Lock nut (M5)




Attach the Motor Box

1 Use the provided drill
templates to drill into
the lower carriage

at the front with an
11/64” bit.

2 Line the motor box
two holes on the motor

box up with the holes
drilled

3 Install the motor box
using the provided M5
x 12mm screws.

Use the washers to
space as needed.

Page 4



Rear Idler Bracket (Bag I3)

1 At the back of the
machine line the rear
idler pulley on the right
of the carriage bracket
over the wheels with
the pulley facing down.

z Secure the bracket to
the carriage using the
provided 14/ screws.




Attach the Carriage Bracket (Bag Y4)

1 Remove the top
carriage and attach the
carriage bracket to the
underside on the right
using the provided
screws, washers, and
nuts.

z Replace the top
carriage onto the
bottom carriage.

Page 6

/

Screws, Washers—

_:-'-'-'-FF-'-F'-F'-H-

Nuts

~

e

™~

.

e
///

= Carriage
[ - Egacket
'_.'.'I' /




Black Belt (Bag Y1)

1

Attach one end of the
black belt to the eye-
bolt on the carriage
bracket using the belt
clamps with the teeth
facing the carriage.

See Appendix A for
help using belt clamps.

Run the belt around
the pulley on the motor
box then behind the
carriage bracket and
around the rear idler
pulley.

Attach the other end
of the black belt to the
slot on the carriage
bracket using another
belt clamp.

The length of the belt should run between the carriage and
the carriage bracket Y,

Page 7



White Belt (Bag X1 and Bag X12)

1 To install the white

belt, you will need to
drill into the wood
frame.

Slide the motor box
as close to one end of
frame as possible.

2 Mark and drill where
the eye-bolt will be
level with the Motor
Box Pulley. (The eye-
bolt attaches to the belt
that runs through the

pulley.)

Page 8



3 Repeat steps 1-2 for
remaining side of
frame.

4 Attach the white belt
to each of the eyebolts
with the belt clamps.

See Appendix A.

5 Attach the eybolts to
each side of the frame
in the drilled holes
with the belt teeth
facing up.

Release the locking
lever on the motor box
and run the belt over
the two bearings and
under the motor pulley.




Install the Android 10” Display (Bag D1, Bag D4, or
No Bag)
For ESP, SE, or PerfectStitch

1 Remove the existing
display and attach
the Android display
bracket.

Refer to the Android
Installation Guide for
further help installing.

For LS and DLS machines (Bag D1)

1 Slide the display
bracket over the handle
bars.

It does not require any
bolts as the weight of
the display will hold it
in place.

Refer to the Android
Installation Guide for
further help installing.

For Ram machines (Bag D4)

1 Use included screws to
attach white bracket to
back of handle bars.

Replace the handle bars
onto the machine.

Refer to the Android
Installation Guide for
further help installing.

Page 10



Connect Cables

Connect the power cable

1 Plug the power cable
into the port on the
motor box.

Ensure that the cable is
running towards the top
of the motor box and
not towards the ground.

2 Run the cable along the
carriage to the back of
the machine, and then
plug into the outlet or
power source.

For ESP, SE or
PerfectStitch continue
to next page.

For DLS or Ram style
machines continue to
page 15.

For LS machines
continue to page 17.

Page 11



For ESP, SE, or PerfectStitch

1 Attach one end of the
network cable to the
Stitcher Box port on
the Motor box.

i

z Run the cable along the
carriage with the power
cable to the control
box and plug into the

robotics port on the
PCB.

Use the provided
anchors and zip-ties

to secure the cables to
the carriage. Make sure
they are out of the way
of any moving parts.

*Image not representative of all
machine types.

Page 12



3

Steps 3-4 for Android
upgrades only:

Locate display cable. It
will be a network style

cable on one or both ends.

Plug the network style
end into the hub (black
box mounted to the
display bracket).

Plug the remaining end
of the black cable into the
port near the front of the
machine.

If the machine has a rock-
er arm cover, then this
connection may be inside
the machine. Remove the
rocker arm, and locate the
joint in the cable.

Page 13



For DLS or Ram style machines

1 Plug the handlebar wire
into the “HandleBar”
port on the motor box.

Colors may vary

z Run the handlebar
cable along the base of
the carriage behind the
back of the machine up
to the handle bar
controls.

.......

*Image not representative of all -
machine types.

Page 14



For DLS models plug the
other end of the cable
into the right most port
on the right

handlebar control box.

For RAM style
handlebars plug the
other end of the cable
into the center phone
style plug (plug should
be a 6 pin connection).

Plug the network style
cable into the “Remote”
port on the motor box.

Run the cable with
the handlebar cable
around the back of
the machine up to the
display.

Use the provided
anchors and zip-ties

to secure the cables to
the carriage. Make sure
they are out of the way
of any moving parts.

machine types.

*Image not representative of all ]

Page 15



6 Connect the other end
of the display cable into
the display.

Android cables will
plug into the RJ45
network connection on
the hub on the back of
the tablet.

Standard displays
will plug into the slot
on the bottom of the
display.

For LS Machines

1 Attach one end of the H

network cable to the andie
Stitcher Box port on Bar

the Motor box.

Wilfn

Remote

Stitcher

Page 16



Run the cable along the
carriage to the and plug
into the Motor Box
port on the Stitcher
box

Remove the cable from
the control box at the
back of the machine
that connects to the
handlebars

Replace it with the
provided shorter cable
with the same pin out.

Plug the other side of
the short cable into the
Power Box port on the
Stitcher box.

*Image not representative of all
machine types.




4 Plug the remaining
side of the cable
coming from the front
handlebars into the
HandleBar Front port
on the Stitcher box.

Then use the included
double-sided foam tape
to attach the stitcher
box to the back of the
machine.

5 Plug the network style
cable into the “Remote”
port on the motor box.

Page 18



Run the cable around
the back of the
machine up to the
display.

*Iage not representative of all ,
machine types.

Connect the other end
of the display cable into
the display.

Android cables will
plug into the RJ45

network connection on

the hub on the back of
the tablet.

Standard displays
will plug into the slot
on the bottom of the
display.

Page 19



Set Machine Type

Android Tablet

Power on the display,
go to Settings >
Machine and set

the machine type to
Default for ESP, SE, or
PerfectStitch machines.

1

For Systems using the
Remote port on the
black motor box, set
the machine to

Tin Lizzie.

Standard Display

Power on the display,
go to Setup > Advanced
and set the machine
type to Default for ESP,
SE, or PerfectStitch
machines.

For Systems using the
Remote port on the
robot set the machine
to Tin Lizzie.

Page 20

@ |Q 4 Machine r

Parameters IMachine ||

W _F_ s

Machine

T}'FE: Default

Advanced
Tin Lizzie
TL18

- = ——
E \ QWY HVOOY
Pattern View = e
Add Pattem iy
New Layout | E=
Open Layout 1'.?_};‘8 bl

e 2
Set Quilt Arca
Pattérn Box
Dema ]
I X:2.47 ¥: 2.99.
.. iy SP g 1
7o ey HVORW
T wipnty [Advanced| Test  Configuration 1
| XKi j ) | ki 8 |
XKd a0 ] YKd 40
q Machine Type iﬂlﬂlﬂ -1.! Needle Up Flag
MdIUp Press 0 | Ndiup Wait 0
SReq Press | 0 | SReg wait 0
| Restat |Factory Defaults|
L A



Check Belt Tension

Loosen the nut closest to

1 Adjust the belt tension the eye

by tightening the nuts
on the eye-bolts.

The black belt should
have about 1/4” of play
while the white belt
should have between 1”
and 1 1/2” of play with
the machine in the
middle of the frame.

Pull the belt tight and
tighten the other nut.

Page 21



Appendix A - How to use Belt Clamps

A belt clamp consists of two
clamps and two screws.

1 Using a Phillips
screwdriver, insert
each screw on opposite
sides of the clamps and
tighten halfway.

Page 22



Thread the belt
between the clamps,
loop it around and
reinsert it between the
clamps.

Align the belt teeth,
then finish tightening
the clamps.

Page 23



Appendix B- Additional help

Power on the robotics

Use the power switch located g

on the side of the motor box
with the ports to power the i
motor box off and on.

Disengage belts for free motion

In order to use free mo- L ™
tion with the butler con-
nected the belts will need
to be disengaged.

To disengage the x-belt,
move the locking lever
away from the edge of the
motor box.

To disengage the y-belt,
loosen the wing-nut on
the carriage bracket.

You can now use free
motion quilting.

Page 24



Tin Lizzie Drill Template

i :;»,o When printing PDFs, DO

; o I NOT select fit to page,

@ Drill bit size @ otherwise the template

i 11/64 : will be distorted when
O,g: i printed.

Line up theleft side of
the template with the
front of the carriage rail.

Make sure the holes on
the template line up
with the holes on the
motor box before
drilling any holes in the
carriage.

Page 25






Tin Lizzie Drill Template

When printing PDFs, DO
1 | NOT select fit to page,

i :;’O otherwise the template

: will be distorted when

: @ @ : rinted.
1 Drill bit size: Drill bit sizei P

Off: #1 #
---------------------------------------- :- 1

Line up the right side of
the template 9 inches
from the front of the
carriage on the left hand
side of the carriage
(from front).

Page 27






uilt
T~ EZ

Still need help?

Visit quiltez.com to learn how to
contact us and find additional help
material.



